CBSE Class 12 Geography Compartment Question Paper 2019 (July 2, Set 3- 64/1/3)
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Candidates must write the Code on the
title page of the answer-book.
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4 10.15 &t fopam ST@m | 10.15 91§ 10.30 S deh B shdel IH-TF Sl Tl
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e Please check that this question paper contains 12 printed pages and
2 pages of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

e (Hgr=ie)

GEOGRAPHY (Theory)
[FerRa @y - 3 gue 7B TH 37 : 70
Time allowed : 3 hours Maximum Marks : 70
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(i) FFYHH-7H HT22 97 8 |

(i) @Y 397 37HarT & |

(iii)) 97 G118 7 31d TG-IT07 J97 & | 579 97 1 37% &1 & | I AP J94 HI
I 40 Yee] & e 771 517 TR0 |

(iv) 397 G&IT 8 & 13 TY-FIT J97 & | I% J97 3 3% &1 & | Ic4%F o4 &1
I 80— 100 Isc] @ 3718 787 &1 T3 |

(v) YT GEIT 14 T 20 FH-370F I97 & | I9% 97 5 b &7 & | I IPH J97 &1
3T 150 J52] @ 3718 787 511 13T |

(vi)  F97 G&IT 21 FIifcies F&IUI H1 GEETHH T9T 37 T1H for@d @ qafead 8 | Jo7
G&T 22 HMiicies el #1 1E9ld F1 39 9@l @ ¥4 4 gEraa & | AP
Y97 5 3F HT & |

(vii) 3TT9H1 10 T fava 9T YRA & IGI-THIGA] Bl ITR-JIEddl @ Gad a9
|

(viii) IGI-HEHIEEl & GIH- & 170 RIeT I1 2raeied & 399177 $1 3741d &1 il
g/

General Instructions :

(1) There are. 22 questions in all.
(11)  All questions are compulsory.

(111) Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

(iv) Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

(V) Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

(vi) Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

(vit) Qutline maps of the World and India provided to you must be attached
within your answer-book.

(viit) Use of templates or stencils for drawing outline maps is allowed.
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Qusg <h
SECTION A

1. g T T8 FHTE & H 39K TRl Uk 9Ty SHET h 9 <hifu | 1

Examine any one environmental problem that emerged in the Indira
Gandhi Canal Command Area.

2. ‘AT Y YW qAT TR 9 ¥ YH H HqT TS HIT | 1
HAJT
oo qfis FR qe g ot FR st T Hif | 7
Differentiate between ‘Culturable wasteland” and ‘Barren and
Wasteland’.
OR

Differentiate between ‘Dryland farming” and ‘Wetland farming’.

3. TERH ‘Y-g¥ UAhI ! [ohH YR IThiNG hidl & ? 1

How does ‘landseape’ attract tourists in the world ?

4. 39 UHg wiEucrsd &1 AW foige, S Afeqent $i @rEl & da B3 hl TIH
TS U o IA-YHI TSI § el 7 | 1

Name the famous pipeline which connects the oil wells of the Gulf of
Mexico to the North-Eastern States of USA.

5.  9Wd % Tehal 2l YTEF R o 9 faRau | é+%=1
AT
WTd % Tohegl & TEIhIele TTRI & =1 fafau | %+%=1
Name any two ancient towns of India.
OR

Name any two medieval towns of India.
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6.  3ThIShI H “HII-SATMESRAT Tl gl H HeH SHEEIT Bl o &I HRUl 1 fageiwo
HITSTT | I
AT

ATIATE 3T I H 3Tl TI hifoly | 1

Analyse the main reason for dense population in ‘Katanga-Zambia

Copper Belt’ in Africa.
OR

Differentiate between immigration and emigration.

7. 39 YEEAT w1 AW Ty, 99 R 1§ S i fRR gig’ il AaiY % &9
4 ST ST 3 | I

Name the ‘phase’ which 1s known as the period of ‘steady population
ogrowth’ in India.

Lus g
SECTION B
8. o fou MU AR@ 1 “aYiyds AIIA HifoT AR I A4 U T yvAi &

EFIT%F@Q . I1+1+1=3
ZE N & 1087

' 1069 1072 1051

1032
1000 - Z 968 Li 953

300 -

op
O
-

N
-
O

200 -

ALAMIIIIIIIITIIIITTiw

k\\\\\\\\\\\\\\\\\\\\\ NN
LAY
ZAMMIIIMIITIIIIMIIIIISIIIANN

3
:
E
=

0 -
ISEIEE I IS M 1 I 1 1 S 2 [ I S [

(8.1) 3@ Taskiyd ¥ 1 AW Tailgu, Si@l T &= § Halfesh A%
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Study the diagram given below carefully and answer the questions that

follow :
1200 - i .

o 1000 968 ! 991

g ann | 2 ? % g 1 Rural
% 600 g g g é

5| A B A
111

= 20 B R

jo—

Finland New
Zealand

(8.1) Name the developed country which has the most favourable
sex-ratio in urban areas.

Zimbabwe Canada Brazil Nepa

(8.2) Which developing country has the most favourable sex-ratio in
rural areas ?
(8.3) Which developed country has the most unfavourable sex-ratio in

rural areas ?

FiZ :  HHEICIRGd 597 @eicl FIPATiad GOemidar & 678, 397 G318 & & W 8 :

Note: The following question is for the Visually Impaired Candidates only,
in lieu/of Q. No-8 :

TER o O ¢ H [HTHUTd ATl o Jldehd H1 8 ? TIe hifT | 1+2=3

Why 1s the sex-ratio unfavourable to women in some countries of the

world ? Explain.

9. HHd 918 & Teh HSle[d 0¥ o &4 H Fdd YNUFAT hl HheUHdl hl oAk

hiToTy | 3
AT
qHd I & HeH HE@qUl Wl H 8 Tk GHAT hl HehoUdl 1 HodThd
hiTaTU | 3
Evaluate the concept of ‘sustainability’ as a strong pillar of human
development.
OR

Evaluate the concept of ‘equity’ as one of the most important pillars of
human development.
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10. Torva AR G (S5¢3, 81,31, ) shl ATAAT 3R TSy =41 T T 3 2 foheaii

19 ROTT sl TIsC HINT | 1+2=3
AT

I Gt (THYET 1T 9R) & YR W ifichd 19 YehR o GG Il <hl

AT hINT | 1x3=3

Why has World Trade Organisation (WTO) been criticised and opposed ?
Explain any three reasons.

OR

Explain three types of seaports classified on the basis of cargo handled by
them.

11. YRd % 3Td H=e o dgeld &Y hl TodTohd hiTiT | 3

Evaluate the changing patterns of the composition of India’s imports.

12. fou v AFfeA 1 GEaYgHIYds AT HINT 3R 3G i< QU TT Y941 % IW
%l'@@: I1+1+1=3
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(12.1) ¥"HET H fe@U T AT U9 39T G339 hl U8 <hIfolu 3T 3Tk
I TARgU |

(12.2) 39 Q8T U9 $EI1d I o ¢ ISt o ATl 1 g hiIT |

(12.3) IE gl U9 SEUTd 997 fohe Johit 3NefiTes forehrd 1 STT9T I hLdl
2

Study the given map carefully and answer the questions that
follow :

Iron & Steel Plant

4 Manganese
W Steel Plant

@. Limestone

{ﬁﬁ Coal
Y% Iron ore

.
Birmitrapur Y

[

fre 7335 km }

S F A
f /

regme

 Y¢ Kulaisila
| *Gorumahisanj
* Kutupit

Noamudi
Kiriburi
Bonaigarh MM

o -

(12.1) Identify and name the iron and steel plant shown in the map.
(12.2) Mention the sources of manganese for this iron & steel plant.

(12.3) How does this iron and steel plant form a base for industrial
development ?
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FIZ :  HEIRGT J99 aci FIPATiad At & c1g, 397 G897 12 & TJH W 3

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 12 :

ART U9 SWIG IAN hl 9K IANT AT hal AT & 2 3¢ dfgd T
Shieg | 1x3=3

Why 1s the iron and steel industry known as ‘heavy industry’ ? Explain

with examples.

13. A9-M39¥ETg i eheudl foheq T&dd i ? Fa-HIa3E1g 1 AehoddT i fhral gl
IENLGIE IR UE RS 1+2=3

Who introduced the concept of Neo-determinism 7 Describe any two

features of this concept of Neo-determinism.

Qus 1
SECTION C

14, FILH Yeield T a8 v’ bl Tohral 9= Taeivdist bl suredt iy | Ix5=5

Explain any five features of ‘Intensive subsistence agriculture’ practised
in the world.

15. HRA I STel-oh Hgwd Ud 3UATCI] hi SATEAT ehilofu | 3+2=5
T

IR HEAR g TRl T YOl [T 191 W1 7 |7 UG 3T Higd §6
Y hl gfse hIT | 2+3=5

Explain the importance and achievements of Indian rail network.

OR

“Satellite communication is playing an important role in several ways.”
Support the statement with suitable examples.

16. WRAd H ST YUYl s ShIUT Td YT 1 fageiwor hifg | 3+2=5

Analyse the causes and consequences of water pollution 1in India.
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17. “OUR ¥ &2 U9 & I hl feafaat o e e Ay w8 17 39
% hl gfse il | 5

HAAT

“TOR W H i 3T 4 3w WEifehl 9dHag 9l 8 |7 39 e i g
EIE L 5

“Locations of large scale industries in the world are determined by

several factors.” Support the statement.
OR

“High technology 1s the latest generation of manufacturing industries
across the globe.” Support the statement.

18. Tohrasiial <@N 4 I Si&qal i fohral dId Y@ FHEITSAN 1 FUF hitaC | Ix5=5

Describe any five major problems of urban settlements in the developing
countries.

19. WHS EI9AT Skl &0 =1 ThaT SIHT M0 2 Yd H Wil 18T o 9L&IuT <6

feheai did aiiehl shl SATEAT il | 2+3=5
3T

“STUTIATA S5l - Frd ATk feehrs uTiifefae-smea 3R F&dt a1 3uclsy

HUd & | IYIh 3GTEN Higd 36 HYH hl gise shiT | 3+2=5

Why should mineral resources be conserved ? Explain any three ways to
conserve mineral resources in India.

OR

“The non-conventional energy sources provide more sustained,

eco-friendly form of cheaper energy.” Support the statement with suitable
examples.

20. “Tash™® HETI &9 § AR g foh™ TRy 9 ¥, gESe o5 = ¥ 93w 3
Tl Wb STeed Fehedql & | 38 Y- ol YHd o Hy H Taveiyor shiffu | 5

“Development 1n general and human development in particular, i1s a
complex concept used 1n social sciences.” Analyse the statement with
reference to India.
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21. HER % U U TSHIAeh @I-AFARS (I8 13 W), § 9= YT A&l ol
A, B, C,D 3R EH fc@rm T 8 | 3eh! 989 HHfIRgd MR <hl #eg |

I 3T 39eh HEI ATH 3eh U1 @il g {@T3l T ToTRaT 1x5=5
A, AN 91 U

B. 9qQ@ HHgl 97

C. THalgT 9ugu <1 Ush Y@ &

D. #m &

E. 3 9

On the given political outline map of the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
them with the help of the following information and write their correct
names on the lines drawn near them :

A. Aninternational airport
B A major seaport

C A major area of subsistence gathering
D. A mega<ity
E

Anindustrial region

FIZ :  FAEIIEd F99 T FIRETIET Thentdar & c1g, 37 geqr 21 & €A
WE

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) I o forel T @ Y51 g 1 9 forlgu |
(21.2) UM o fehel Teh AU 1Y U4 bl A foilgy |
(21.3) eferor smftent o foreft wep w5t o1 7w fafgu |

(21.4) I ITHNERT o Teh MNNh Y T 919 ARG |
(21.5) 3ThIehl o @ Halad UG & i A0 gy | 1x5=5
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22.

(21.1)
(21.2)
(21.3)
(21.4)
(21.5)

Name any one major seaport in Europe.
Name any one international airport in Asia.
Name any one mega city in South America.
Name an industrial region in North America.

Name the major area of subsistence gathering in Africa.

HRd o QU U UaHIfde W@r-aHt=a (98 15 W), | Hefofad 5 9 fag? grer

TTITeTeh ALIUT bl C@TET 3T 3Ieh AW TRET :

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)
(22.6)
(22.7)
(22.8)

1x5=5
TSI 1 Th g 3IEh @H

I8 TS SoH ATET=l shl 9 1 9ed 319 3

19 BT U IcqTGh TS

31T 1 Teh AQUST I Yo

e W] 1 Teh HFCAIL SaIctisil UTeh

TSI 1 Ueh dol YA ShREM

8 TS oaH TR i Tl T9d A 8

gieofl Yo Huse 1 geATerd

Locate and label any five of the following geographical features on the

given political outline map of India (on page 15) :

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)
(22.6)
(22.7)
(22.8)

a1 A Y 1 g B0 R A DY | T by B R G A 1Y
3 =
g B
- -
2 3
5 3
= T
= ]
GRCIG AT 1 Thes g 1 BT U P | T hcey i R 1 Y v

An Iron Ore mine in Odisha

The State with the largest number of immigrants
The leading producer State of rice

An international airport in Assam

Software Technology Park in Madhya Pradesh
An Oil refinery in Gujarat

The State with lowest level of urbanisation

Headquarter of Southern Railway zone

11 P. T,

@
Qcollegedunla;
India’s largest Student Review Platform

—



Tz: Bk e Fae FaTRE qhenfort % o7, Y GE 02 % w9 W
8 | faegT uier 391 & 3% v |

The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 22. Attempt any five questions.

Note :

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)
(22.6)
(22.7)
(22.8)

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)
(22.6)
(22.7)
(22.8)
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3AH o AAUST A U4 1 A9 TAIaT |

e YG3 o TR SISl UTeh bl ATH feilRgu |
DAETG b Teh wilg 3TTEh @H 1 AW fIgy |

39 T 1 W faReu, fSga syenfe it g ey Aty 7 |

g oh UM IcqTeeh UsH ol A1 Ray |
TTSRId h Tohdl Teh dcd IMYH SHR@M 1 91 TaIgu |

gfeqult o1 AU & &A™ o 9 fiRgu |
TTIHT o TFH HH Tl dTed I bl 919 fOIRgU | Ix5=5

Name an international airport in Assam.

Name a software technology park in Madhya Pradesh.
Name aniron ore mine in Chhattisgarh.

Name the State with the largest number of immigrants.
Name the leading producer State of rice.

Name any one oil refinery in Gujarat.

Name the headquarter of Southern Railway zone.

Name the State with lowest level of urbanisation.
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For question no. 21
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L et
I3 9. 22 o ToTu For question no. 22
YA h1 {@T-ATH AT (TR )
Outline Map of India (Political)
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